JELD-WEN DOOR SYSTEM
INSTALLATION DETAILS
STEEL 24 GA. WOOD EDGE
GLAZED DOOR WITH GLAZED SIDELITES
UP TO 12'-0" X 6'-8"
OUTSWING/INSWING

GENERAL NOTES

-

. THIS PRODUCT IS DESIGNED TO COMPLY WITH CURRENT INTERNATIONAL BUILDING CODE (I.B.C.) & INTERNATIONAL RESIDENTIAL

CODE (I.R.C.) AND THE CURRENT FLORIDA BUILDING CODES (FBC). PRODUCT HAS BEEN TESTED TO TAS 201-94, TAS 202-94 AND
TAS 203-94. PRODUCT ALSO MEETS "HIGH VELOCITY HURRICANE ZONE" (HVHZ) REQUIREMENTS.

N

MUST HAVE A SPECIFIC GRAVITY OF 0.55 OR GREATER.

w

. 1X AND 2X WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. BUCK MATERIAL

. PRODUCT ANCHOR TYPES AND SPACING ARE SHOWN ON SHEET 5. DIMENSIONS SHOWN FOR ANCHOR SPACING ARE ALWAYS

FROM EDGE OF UNIT FRAME. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

4. THIS DOCUMENT SUPERCEDES OTHER ANCHOR INSTALLATION INSTRUCTIONS
FOR IMPACT RATED DOORS. FOR OTHER IMPORTANT INSTALLATION INSTRUCTIONS, REFER TO JELD-WEN
DOCUMENT #JI1106 (INSTALLATION INSTRUCTIONS FOR PRE-HUNG ENTRY DOORS) FOUND ON THE JELD-WEN
WEBSITE: JELD-WEN.COM/LEARN/RESOURCES/ INSTALLATION & FINISHING/.

[$)]

. FOR DESIGN PRESSURE RATINGS, SEE TABLE 1, SHEET 1.

148 3/8" MAX. FRAME

TABLE 1

DESIGN PRESSURE RATING:

SIZE QUALIFIES: IMPACT GLAZED OPERABLE PANELS AND SIDELITES

MAX. PANEL WIDTH = 35 3/4" 6-8 TALL SYSTEMS:

(XXO) (OXX0) (OX) (XO) (OXO)

MULLION TYPE LVL BAGK TO BACK FUP OR SOLID PINE 1X4 ALUM. TUBE MULLION
MULLION BACK TO BACK MULLION :
oUTswinG | POSITIVE +65% +50% +65F
NEGATIVE _ 60* B 50* B 60*
INSWING |POSITIVE +60% +50% +60%
NEGATIVE _g5X 50X _g5X
COMPONENT LIST
ITEM DESCRIPTION MATERIAL | QTY.

1 |NON-COMPRESSION SHIM (0.25" MAX. THK.)

WOOD _ |AS REQ.

2x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER)

WOOD _ |AS REQ.

1X'WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER)

WOOD __ |AS REQ.

#10 WOOD INSTALLATION SCREW W/ 1 1/2" MIN. EMBEDMENT]

STEEL _[AS REQ.

STEEL [AS REQ.

#9 X 2 1/2" PHILLIPS FLATHEAD WOOD SCREW

STEEL 20R4

#8 X 2" PHILLIPS FLATHEAD WOOD SCREW

STEEL _|AS REQ.

2
3
4
5 |1/4" ITW TAPCON W/ MIN. 1 1/4" MIN. EMBEDMENT
6
7
8

#9 X 3/4" PHILLIPS FLATHEAD WOOD SCREW

STEEL 30 OR 60

9 |1"O.A.IG IMPACT FRAME GLAZED BY ODL

ALUMINUM |1 OR 2

6. ALL FASTENERS IN WOOD SHALL - TANMAX 373M16"MAX.| 10 |KWIKSET LOCK SERIES 400 STEEL 1
BE COUNTERSUNK 3/16" DEEP. 2O FRAME TYP. | FRAME TYP. 11_|KWIKSET DEADBOLT SERIES 780 STEEL 1
ExampLe: 216" | SHT-#9 12_|ODL FLAT LITE KIT OPTION STEEL 1
i EE—( N — 13_| ADA THRESHOLD ALUMINUM [ 1
( E o rd A Y N AY -
R . Z
7. DOOR CORE BY JELD-WEN. L33 © / \ NOTE®) m: 380 g
o . ol 2 X
8. FACE SHEETS: 24 GA (0.021" MIN) 53¢ 2 K 7 INSWING PRODUCT MEETS WATER INFILTRATION al £ 2 g N
_ G o o REQUIREMENTS ASTM E331-00 @ O PSF. | 58583
J\,",”TaKE\',EESS Agém’mfﬁ flTEELE" £z¢ % ° OUTSWING PRODUCT WITH AFCO H-497 py e
STRENGTH FY(AVE)=40.3 KS| 522 & THRESHOLDS MEETS WATER INFILTRATION AR
Rt 255 © REQUIREMENTS ASTM E331-00 @ 9 PSF. o| 8- =%
o, u AN / OUTSWING PRODUCT WITH ENDURA FOB4566A alnB oy
2 0 ~ ol . THRESHOLDS MEETS WATER INFILTRATION H[REsp
* = [ ACTIVE INACTIVE o ED REQUIREMENTS ASTM E331-00 @ 8.25 PSF. B| W&
EXED £XED ALL OTHER THRESHOLD RATED FOR 0 PSF.
IMPACT LITE TYP. 120 X 6-8 ELEVATION
SEE SHT. #3

DOUBLE DOOR W/ FULL BACK-TO-BACK 3-0 SIDELITES

(0,XX,0)
74 3/4" MAX. FRAME——I |<—74 3/4" MAX. FRAME——I Ii‘l 12 1/4" MAX. FRAME—-I
\
=
. 5 ~ ‘ N N ’ N P
5 O
£ o8 / / AN
© Juw
S <§( /@TYP.
ZzZo ° ° °
B
2 %< ® N ® -—ryp, ®
= (@]
)
3 \ \ /
s 7 ¢ AN Z s A
ACTIVE ACTIVE ACTIVE
FIXED FIXED FIXED FIXED

-

6-0 X 6-8 ELEVATION

DOUBLE (0,X)

6-0 X 6-8 ELEVATION

DOUBLE (X,0)

9-0 X 6-8 ELEVATION

-0 X 6-8 FULL LITE J

INSWING/OUTSWING IMPACT GLAZING
GENERAL NOTES, ELEVATIONS, DP RATINGS
AND B.O.M

STEEL WOOD EDGE 12

TRIPLE (0,X,0)

398 E/p

SHEET INDEX SHEET # DESCRIPTION
SHEET # DESCRIPTION 6 TNSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD
1 GENERAL NOTES, B.O.M. & ELEVATIONS 7 |INSWING VERTICAL AND HORIZONTAL SECTIONS IN CONCRETE/MASONRY
2 GENERAL NOTES & ELEVATIONS 8 OUTSWING AND INSWING ANCHORING DETAILS
3 OUTSWING/INSWING BOX MULLING DETAILS 9 TUBE MULLION ANCHORING DETAILS
4 OUTSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD
5 |OUTSWING VERTICAL AND HORIZONTAL SECTIONS IN CONCRETE/MASONRY

EACH-B
DANIBEACH, il 33004

PART OR ASSEMBLY

TS

:12.15.2015

Te: NONE

. ev: G.LUBBECKE

k. 8v: S,.SAFFELL

DRAWING No.:

D013701

FBPE CERT. OF AUTH. NO. 2957g|st=s7 1 of 9




-

N

w

N

o

o

~

JELD-WEN DOOR SYSTEM
INSTALLATION DETAILS
STEEL 24 GA. WOOD EDGE

TABLE 1

DESIGN PRESSURE RATING:

01/27/20 [ADA THRESHOLD ADDED

NO.

DATE

EVISIONS

GLAZED DOOR WITH GLAZED SIDELITES SIZE QUALIFIES: IMPACT GLAZED OPERABLE PANELS AND SIDELITES
UP TO 12'-0" X 8'-0" MAX. PANEL WIDTH = 35 3/4" 8-0 TALL SYSTEMS:
OUTSWING/INSWING (XXO) (OXXO) (OX) (XO) (OXO)
GENERAL NOTES LVLBACK TOBACK |  FJP OR SOLID PINE
. THIS PRODUCT IS DESIGNED TO COMPLY WITH CURRENT INTERNATIONAL BUILDING CODE (I.B.C.) & INTERNATIONAL RESIDENTIAL MULLION TYPE MULLION BACK TO BACK MULLION | 1X4ALUM. TUBE MULLION
CODE (I.R.C.) AND THE CURRENT FLORIDA BUILDING CODES (FBC). PRODUCT HAS BEEN TESTED TO TAS 201-94, TAS 202-94 AND SOSTIVE X % ¥
TAS 203-94. PRODUCT ALSO MEETS "HIGH VELOCITY HURRICANE ZONE" (HVHZ) REQUIREMENTS. OUTSWING |- e +50 o +50 e +35 "
. 1X AND 2X WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. BUCK MATERIAL POSITIVE ;55%* ;55(:)* +3355*
INSWING
MUST HAVE A SPECIFIC GRAVITY OF 0.55 OR GREATER. NEGATIVE _5o¥ _5o¥ 35X
. PRODUCT ANCHOR TYPES AND SPACING ARE SHOWN ON SHEET 5. DIMENSIONS SHOWN FOR ANCHOR SPACING ARE ALWAYS
FROM EDGE OF UNIT FRAME. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. s NOTE(s):
. THIS DOCUMENT SUPERCEDES OTHER ANCHOR INSTALLATION INSTRUCTIONS e INSWING PRODUCT MEETS WATER INFILTRATION
FOR IMPACT RATED DOORS. FOR OTHER IMPORTANT INSTALLATION INSTRUCTIONS, REFER TO JELD-WEN REQUIREMENTS ASTM E331-00 @ 0 PSF.
DOCUMENT #J11106 (INSTALLATION INSTRUCTIONS FOR PRE-HUNG ENTRY DOORS) FOUND ON THE JELD-WEN e OUTSWING PRODUCT WITH AFCO H-497
WEBSITE: JELD-WEN.COM/LEARN/RESOURCES/ INSTALLATION & FINISHING/. THRESHOLDS MEETS WATER INFILTRATION
REQUIREMENTS ASTM E331-00 @ 9 PSF.
148 3/8" MAX. FRAME OUTSWING PRODUCT WITH ENDURA FOB4566A
FOR DESIGN PRESSURE RATINGS, SEE TABLE 1, SHEET 2. S 310 THRESHOLDS MEETS WATER INFILTRATION
ALL FASTENERS IN WOOD SHALL 1oy DLOy [T FRAMETYP. FRAVE TYP. [~ ALL OTHER THRESHOLD RATED FOR 0 POF
BE COUNTERSUNK 3/16" DEEP. SHT. #3 )
/16" ——]
EXAMPLE: — T — —
( t ’ N ~ ~
£ o / \
. DOOR CORE BY JELD-WEN. .0
. YW o / N\ z:
o ™
. FACE SHEETS: 24 GA (0.021" MIN) 8ouw & o3850 g
THICKNESS. GALVANIZED STEEL C6Z o = 25038
WITH AVERAGE MINIMUM YIELD £z % Aloxedd
STRENGTH FY(AVE)=40.3 KSI. (% R - © | 0O ®m
ZzE< % [ ] 1 8 u o2
=20 Bl X ™ ¥
O . uw C W N <
26 \ / O 1 c >~
<§( € : NB UL
~ rd rd m c X
* 4 A — ; R E 20
¥ QO
FIXED ACTIVE >| ﬁ INACTIVE FIXED H
IMPACT LITE TYP. — —e— =
SEE SHT. #3 — 12-0 X 8-0 ELEVATION
DOUBLE DOOR W/ FULL BACK-TO-BACK 3-0 SIDELITES w 0
(0,XX,0) So s
|<—74 3/4" MAX. FRAME——I I-—74 3/4" MAX. FRAME——I %1 12 1/4" MAX. FRAME—-I 35 =
— 59 2
(TN (G} o
o a
\ BN N v N N v © E u
o 8| 8
= / / \ Q= £
¥ / / \ =2 a
= © T w =
8 O 03 w
O Dhe ag )
82 a - wWiliitng,, w5 ol
Z2z5 W\ y a3 =
=t : L@ : W€ “, | 82|, ¢
2an< N : N ‘ g Z|z 2
= 1 % é =
°x AN AN / p D22 W
s z ¢ AN r 7 AN 9] b) I = g
ACTIVE ACTIVE ACTIVE g E
FIXED FIXED FIXED FIXED _= o
6-0 X8-0 ELEVATION 6-0 X 8-0 ELEVATION 9-0 X 8-0 ELEVATION oaiE: 12.15.2015
DOUBLE (O,X) DOUBLE (X,0) TRIPLE (0,X,0) &=NONE

oG, ev: G.LUBBECKE

k. 8v: S,.SAFFELL

DRAWING No.:

D013701

SHEET 2 oF 9




BOX SIDELITE MULL
MAX. 4 UNITS
EXAMPLE: O,XX,0 or O,X,0 or O,X

VW
#8 X 2" 4 %

|<—20 1/2" MAX. D.L.O.——I

AT DOUBLE-BACK JAMB
ATTACHMENT

LOCATIONS AT
1" X 4" MULLION

=z #8 X 2"
PFH SCREWAT = PFH SCREW AT
EACHMULLIONTYP.  ~ m EACH MULLION TYP. \
INACTIVE ACTIVE  INACTIVE ACTIVE SEE SHEET 9 FOR TUBE
MULL INSTALLATION DETAILS o3 Wl o3
f. — 100" s
o T [— g
> o
b i <
= . |
4.00" || —{f— 0.125" b 7 —
[ce]
~
X _ \
) _EETAIL c3 \
$) 1) T =="Ad \
9 a O 1" X 4" MULLION \
o i R i 6063-T6 ALUM.
~ ~ 4 ODL ALLEN IMPACT
~ 3-0 X 6-8 SHOWN
1/2" x 1/4" CU-D SPACER -
- - £ sls3de
REDI-SEAL g",‘) °o| 2558
i INTERIOR =2 1/8" TEMPERED GLASS : rE e
o} 1/2" AIR SPACE il -y
v <l ORIy
. < o| B
> 0.090" SAFLEX PVB el i€
INTERLAYER BY 2lo 2 5 %
DOW 995 SILICONE EXTERIOR EASTMAN Blm 2 &Y
— — 1/8" ANNEALED
BITE
DETAIL D3
ODL IMPACT GLAZING DETAIL E [95]
MAX. D,L,OE 20 1/2:)(78 5/8:: FOR 8-0 DOORS : g %
. APPLY DAP ALEX PLUS MAX. D.L.O: 20 1/2" X 62 1/2" FOR 6-8 DOORS = E
SILICONE OR EQUIV. I‘ qo 'l z g o
BETWEEN JAMBS INTERIOR | EXTERIOR ) 5 Qg
BEFORE MULLING — [ /87 ANNEALED GLASS 2 E g
\ SEALANT J 0.090" SAFLEX PVB INTERLAYER BY EASTMAN o = 3
1/8" TEMPERED GLASS N LZD %
_ _ ﬁ'f EALANT w S <
iityy @ g <
1
" M 4 = ODLIMPA[(;?I'T(:IL Déﬂ)‘ ! II// 8 2 &
s g MAX. D.L.O: 20 5/8' g! HORE o) LZD N a
. . D MAX. D.L.O: 20 58X 78, =5 @ O]
o g K S 4 2|8 2
= F 1 ®  DOW9Y5 S C 52|l 3
o o S 25 =
i [ S -
oy
L)
~ =
=
k ofs": G.LUBBECKE
| -— . ’ ) w
| DETAIL A3 DETAIL B3 X (ORERS (I o s sareL
FASTENER LOCATIONS FASTENER 39 @ {s} DRAWING No.:

FBPE CE

TIOFAYTHIND: 29578 = o o

3004 D013701




1" MIN. —I— 1" 1" MIN. —I— 1" MIN. U SEE NOTE #7
| | INTERIOR ON SHEET 1 W
EE— INTERIOR
11/2" MIN. 11/2" MIN. EXTERIOR
EMB. EMB. | 1120 EXTERIOR
L PO POt .
f 7 W24 YA EMB. 172" 1120 %X
114" 1 114" /// //// ZZ L ////é/ 77057
MAX. f wax, LLELT EMB. |4 /L
SHIM 1/8" SHIM \@
EXTERIOR "
SEE NOTE #7 _/ INTERIOR - EXTERIOR INTERIOR — _— l— 1 min ‘L
ON SHEET 1 OUTSWING OPERATING UNIT OUTSWING FIXED UNIT o — ™ ——\@
VERTICAL CROSS SECTION VERTICAL CROSS SECTION O\},’ET:T",‘:':XE ggg’;gg’gg#gg 1" MIN
HEAD JAMB SILICONE AT HEAD JAMB MAY BE USED AS FIXED SIDELITE W/ OUTSWING FIXED UNIT
BEAD OF SEALANT W VERTICAL CROSS SECTION
INTERIOR JAMB W/ FIXED SEAT
INTERIOR
—_— EXTERIOR
EXTERIOR =
11/2" 11/2"
MIN. MIN. 4
emB. EMB. 5/8"
11/2" MIN HINGE DETAIL: T T
EMBED. 1/4" MAX. TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) J—
SHIM CENTER TOP = 8 SCREWS (ITEM #8
] SEE NOTE #7
ON SHEET 1 CENTER BOTTOM = 8 SCREWS (ITEM #8) -
1" MIN BOTTOM = 8 SCREWS (ITEM #8) } | l— 1o min __|__ 1" MIN —] o 3 =g 2
" " ol =
— v — - OUTSWING OPERATING UNIT alZey s
VERTICAL CROSS SECTION a| 538 g
OUTSWING OPERATING UNIT MAY BE USED AS FIXED SIDELITE W/ ol oo
VERTICAL CROSS SECTION BEAD OF SEALANT Bl X C 53
1" MIN MAY BE USED AS FIXED SIDELITE W/ 2 Js5 S
L BEAD OF SEALANT o g ¢ X
I - N g @ ©
A v Fﬂ; ne & "
7 T N p INTERIOR Py
(2]
@/ EXTERIOR  \ sy @ EXTERIOR " é
FIXED UNIT 11/2" Eo
HORIZONTAL CROSS SECTION MIN. =7 | - § o
OUTSWING SHOWN 112 3 emB. /XN 5/8" 2 _
it BV 7 T | EE) €
EMB. Y 2 E S
= a &
\@ o = [oNa)
&5 Ig
\@ ———] 1" min " g 28
' 1" MIN o= <z
— 1w ——|—— 1" MIN —] OUTSWING OPE a 5 3
. OUTSWING OPERATING UNIT VERTICAL RQ oo =
1" MIN. VERTICAL CROSS SECTION MAY BE USE. 7, 8al. &
K] ADA SILL .,‘ s, ;§ 3 >
INTERIOR // L D2 |4 2
—_— 24 NOTES: 3 T ES (s 2
7 g l " s
— -~ £ E
\ [ OPTIONALLY, ANCHOR CAN BE PLACED IN S = £ 3
/// 1" MIN. NARROW SECTION OF HEAD OR JAMB AS LONG == oA 12.15.2015
SEE NOTE #7 / AS MINIMUM EMBEDMENT AND EDGE DISTANCE =| - < O
ON SHEET 1 A t ARE ACHIEVED. E saaes: NONE
4 MAX. SHIM T [ @ [ rmemis, (o X 2 1/2") TWO SCREWS TO BE ‘ @ o G.LUBBECKE
1 1/2" MIN SHIM . INSTALLED IN TOP HINGE AT JOB SITE, CLOSEST Qe sv: S.SAFFELL
: 11/2" MIN. TO WEATHERSTRIP.
EMBED. EMBED. DRAWING No.:
D013701
OUTSWING LATCH JAMB AT FRAME OUTSWING HINGE JAMB AT FRAME A JNCHOR BELOW NEATHERSTRIP
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION ’ seer 4 o 9




11/2" MIN. CONCRETE/ T VZEMING = 12T MIN
—| 112"MIN. [=—— 11/2" MIN. 11/2" MIN. MASONRY p I o " MIN.
1" MIN. —— 4" MIN, —— /BY OTHERS TYP. INTERIOR EXTERIOR MIN. 1" MIN.
1 1/4" "
ST 1M1|ﬁ. T MIN, INTERIOR EXTERIOR /@@ BMB.~ | e
EMBED EMBED s . .
~—t g ~N— T Ty " ~. S
s @ R 114" M L 114 MN { SN SRR
: . . ; . . . S EMBED < 12" EMBED 5/8" — >_<
A j : = /@ ﬁ A A / = /@ ? AA Y “q 4 Aﬂ ? CONCRETE/ @
‘ MASONRY T
CONCRETE/ >< = S BYOTHERS | N s \®
MASONRY {_ <,,® 1 /@ 7 S Ll e
BY OTHERS 1~/ — — :
T VO R 00 <12 MIN — MAX.
TYPICAL e // W e 1140 // // é/i /é i Y5 i1 min SHIM INTERIOR EXTERIOR
MAX. EXTERIOR MAX. &
- s
SHIM - NSOT:\E/IW N EXTERIOR O‘;L_TR;‘?TV’VZ"X‘E g;gggggg#gg OUTSWING FIXED UNIT SEE NOTE#7 —/ OUTSWING OPERATING UNIT
SEE NOTE #7 INTERIOR ON SHEET 1 INTERIOR VERTICAL CROSS SECTION ON SHEET 1 VERTICAL CROSS SECTION
ON SHEET 1 B OPTIONAL 1X BUCK
OUTSWING OPERATING UNIT OUTSWING FIXED UNIT _ n -
11/4" MIN. VERTICAL CROSS SECTION VERTICAL CROSS SECTION
EMBED. HEAD JAMB HEAD JAMB
ERE 174" MAX. i ) INTERIOR EXTERIOR
X 7T sHIM INTERIOR EXTERIOR
| EXTERIOR HINGE DETAIL:
. TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) /, OUTSWING FIXED UNIT
. CENTER = 8 SCREWS (ITEM #8) /. YR R o™
TA2TMING . BOTTOM = 8 SCREWS (ITEM #8) =
“ S i
’ Zm
. y < |1 1/4" MIN. o
12 a . o T O 0o
N v N EMB. SO ¥ o
v . =~ EE:
1" MIN. R s 538 8
11/2" ‘ ‘ ‘ CONCRETE/ w| T2
11/2" MIN |=— -~ 112" MIN T
l 11/2" MIN MASONRY SEE ITEM =28
1 SEE NOTE #7 / BY OTHERS #7 ON Slds e
FIXED UNIT ON SHEET 1 OUTSWING OPERATING UNIT OUTSWING FIXED UNIT SHEET 1 p—] 2l BB 2
— -t o ®©
HORIZONTAL CROSS SECTION VERTICAL CROSS SECTION VERTICAL CROSS SECTION &3 [ s2E
OUTSWING SHOWN 4X ey
P L~ 11/2" MIN %
2X )
s @ 1" MIN. & 3
) e sh B
- / @ ~ EXTERIOR /. / O u 2
7 1 1/4" MIN. Em Ew
<4 N % Bt EMBED [~ : -8 8L
" — O w
11/2" MIN. s " J . 1 1/2" MIN. , 1" MIN. . 40 S
. . : e >4 22
s a " 4 w
1"MIN. (¢ 7 sl 1" MIN r i 11/2" MIN} : ) Q S
1> - ; e X B 1.1/2" MIN. ] v Y ) S ax
. / . [ ca =< 2 Zx
7/ 1" MIN g <=z
L : L R : E 11/4" ,__{ Q= 29
. (B 7 - MIN. EMBED_y y V1 a2 3 <
a IS 1 '_
1" MIN. . \ % ) < 1" MIN. < ae 7
> b SEE NOTE#75/( 77 * < X %’ T =
a IS o
11720 i s \® ON SHEET 1 . f v 9 E -0
. . 1 1/2" MIN b 8 Z
| a 1aMAX. || e 1172 MIN. | < @ g =
. SHIM S T B
o [ VA MAX. | 1 174 N, run [ SEE NOT! - g 5
1 1/4" MIN. SHIM — — EmBED. v & £ 3
EMBED. - f . < SHEET 1 & 12.15.2015
OUTSWING HINGE JAMB AT FRAME OUTSWING LATCH JAMB AT FRAME . ‘ 1/4" MAX. b e
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION I "sHm |sest=: NONE
. v
NOTES: = [P, sv: G.LUBBECKE

DOPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED.

CONCRETE/
MASONRY

11/2" MIN.

EMBED

BY OTHERS

@ITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP.
@AT SILL, PLACE ANCHOR BELOW WEATHERSTRIP OR MAY BE PLACED TO THE INTERIOR.

OPTIONAL MASONRY/CONCRETE INSTALL

CROSS SECTION OF HEAD JAMB OR SIDE JAMB

ok 8v: S.SAFFELL

DRAWING No.:

D013701

SHEET 5

OF

9




1" MIN. i 1"¥N. /i/@ 1" MIN. | 1" MIN. /i/@
11/2" MIN. /(@ 11/2" MIN. /CD
EMB. | EMB. |
70 =0 == =0
L7 T 7
MAX. ] 1/4" 4
SHIM 1/8" MAX.
SHIM
SEE NOTE #7 _/ EXTERIOR INTERIOR ~ SEE NOTE #7
ON SHEET 1 ONSHEET 1 EXTERIOR
INSWING OPERATING UNIT INSWING FIXED UNIT
VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB
11/2" MIN e &l
EMBED. 1/4" MAX.
—| F—sHm HINGE DETAIL:
| y SEE NOTE #7 TOP = 6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6)
77 ON SHEET 1 CENTER TOP = 8 SCREWS (ITEM #8)
1" MIN. /. 7 CENTER BOTTOM = 8 SCREWS (ITEM #8)
\ BOTTOM = 8 SCREWS (ITEM #8)
x4/ gy
/7//‘ EXTERIOR
1" MIN. /. &
(/. 7 y
N /
1 7 ' W
oAl

@/ INTERIOR
FIXED UNIT

HORIZONTAL CROSS SECTION

INSWING SHOWN

AR N RRNY

KDY

L

1" MIN.

T

11/2" MIN.
EMBED.

\_1/4" MAX.
SHIM

INSWING LATCH JAMB AT FRAME
HORIZONTAL CROSS SECTION

e/’

EXTERIOR

SEE NOTE #7
ON SHEET 1

4 7.
-\ 7 1 MNnT]
%
//// 1" MIN,
1/4" MAX. @t
SHIM ™ [~
11/2" MIN.
EMBED.

l

<

EXTERIOR

SEE NOTE #7
ON SHEET 1

EXTERIOR

INTERIOR

<

INTERIOR

i

11/2" MIN.
EMBED.

t

11/2" MIN.
EMBED.

| 1" MIN

—

1" MIN

INSWING OPERATING UNIT
VERTICAL CROSS SECTION

<

L\@

o

=—1" MIN

1" MIN

INSWING STATIONARY UNIT

VERTICAL CROSS SECTION
BOXED SIDELITE SILL

INSWING HINGE JAMB AT FRAME

HORIZONTAL CROSS SECTION

112" no -
MIN. 4% .. HEEER
EM. Ny HEIS 3
(-] e X N
4| g O © a
el S u®
U = ; ~
1 \@ : % & om $
- ~ un
INSWING OPERATING UNIT [ﬂ; Rs2E&
VERTICAL CROSS SECTION
ADA SILL EXTERIOR 5 / INTERIOR Py
B ()]
: =
4 E o S
S22 G
— [%5]
=]
| 23| 2
25| &
1" MIN %2 <
EMBED xg 2a
' L5 [e)e)
Q IO
i = ;
|— 1"mIN = 2
(GRS Zz
an =
w = =
INSWING OPERATING WA a3 S
VERTICAL CR 8¢ |, E
=Z | a
NOTES: xo, oxo QQ'N = = £ s
3 L @2 (i ¢
OPTIONALLY, ANCHOR CAN BE PLACED IN € mE |5 =
NARROW SECTION OF HEAD OR JAMB AS b 20 ° 2
LONG AS MINIMUM EMBEDMENT AND EDGEY = g 3
DISTANCE ARE ACHIEVED.
- A2 12.15.2015
= [P 14102010 |
[ !TEM #6, (#9 X 2 1/2") TWO SCREWS TO BE o scas NONE
INSTALLED IN TOP HINGE AT JOB SITE, % I~
CLOSEST TO WEATHERSTRIP. 4 o 5v: G.LUBBECKE
g
Poric. 5v: S, SAFFELL
AT SILL, PLACE ANCHOR IN SILL 3
BASE MATERIAL FOR MAXIMUM SUPPORT. DRAWING No-:
D013701
SHEET 6 oF 9




CONCRETE/MASONRY
BY OTHERS
[ |=—— 11/2" MIN.

1/2" MIN.

ST VT Vjp—
1 1/4"

MIN.
EMBED,

1" MIN.

|=—— 1 1/2" MIN.

[—— 1"MIN. —

CONCRETE/MASONRY
BY OTHERS

-

'j INTERIOR

11/4" MIN.

<

INTERIOR

A

— 1/2" MIN. 11/2" MIN.
114" " MIN —
MIN. 1" MIN.

EMB.

AT B = L T
e N T EMPED ] 1 s -
e =l ] e N
! MASONRY 7R 7777777
i /@ 1 /@ St e s T s L BY OTHERS //// .//-/// 7 \®
= - T o7 e — e 11 LR
T /// ///z/ /// 1)4" //// //z// K 1172 MIN f————— 1 127N ——I — 11/2" MIN ——I MAX. TTERIOR
e T SHIM SRR EXTERIOR
e Y iAX. (22 INSWING OPERATING UNIT INSWING OPERATING UNIT
MAX. INTERIOR S _)\_/ VERTICAL CROSS SECTION VERTICAL CROSS SECTION W
SHIM EXTERIOR SEE NOTE #7 _/ EXTERIOR INTERIOR XO, OXO CONFIG. ONLY Sgi ';aélé 1?71 INSWING OPERATING UNIT
— ON SHEET 1 4 ANTERIOR K
\» 1 v VERTICAL CROSS SECTION
SO ¥~ INSWING OPERATING UNIT INSWING FIXED UNIT OPTIONAL 1X BUCK
VERTICAL CROSS SECTION VERTICAL CROSS SECTION —
HEAD JAMB 77,
. HEAD JAMB EXTERIOR INTERIOR 7
1 1/4" MIN. - A .
EMBED. 2 -
T 1/4" MAX. 11/4" MIN {;{{Lﬁ =
" MAX. " MIN. IO (XX X)
_‘| |‘_ SHIM \reRiOR EMBED ;:;IO*QOZQ" » {20202009}0;
N T
112 mifC - N HINGE DETAIL: S s , R
N smin. TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) | »:*" =" -4 L T A
N ' CENTER = 8 SCREWS (ITEM #8) Z'
§ 11/2" MIN 11/2" MIN 11/2" MIN ol .
NS Y EXTERIOR BOTTOM = 8 SCREWS (ITEM #8) T2 MiN - — mo 382 g
N °|3 8
. INSWING OPERATING UNIT INSWING FIXED UNIT al @ 2 2 g
v NN 1* MIN. VERTICAL CROSS SECTION VERTICAL CROSS SECTION o 5383
112e Ml . o NN \_ ' 2X CONCRETE/ INTERIOR : 8 u a ﬁ
MASONRY =057
l - SEE'NOTE #7 o SEE ITEM ol S L
1 G/ SEENOTE f ) , \ BY OTHERS“ #7 ON a '_\. % y 51
FIXED UNIT Ve SHEET 1 Blo £ 5 %
HORIZONTAL CROSS SECTION dl b YR
INSWING SHOWN ey
1 1/2" MIN| 5 "
> N ) : | B
- Exterior | & | B
-~ - | O w &
_~  INTERIOR / o i 5 =
. . /- 1" MIN. ) u = A Er
I N ‘ 2 1 1/4" MIN. _ 43 gy
1172" MIN. 4o EmMBED | 11/2" MINJ IO 5 5 NGO
" " MIN. S | ; 47 MAX 251 2=
N> —eee T Bl | g2 &
N\ EXTERIORP R i 1412 MIN. | NS 114 | = E oz
NN A SR = MIN. EMBED = Z=z
NN g4 - 1" MIN 1 ' L= 23
: : g : g : N 2
\\ /// -:( " ) oz Q=
NN SEE NOTE #7 75 e MIN'1 v 82 s EE
11/2" MIN. ON SHEET 1 R ] ’ é gl ¥
‘ > D L EHT 5
" SHIM 11/2" — z =9
s 114" MAX. | 1 1/4" MIN. N 2 T Sz
/4" MIN. SHIM — —  EMBED oy = £ 2
EMBED. | — ’ : _= o =
INSWING LATCH JAMB AT FRAME SHEET1 == oas: 12,15.2015
INSWING HINGE JAMB AT FRAME HORIZONTAL CROSS SECTION . ] 1/4" MAX. - ——
HORIZONTAL CROSS SECTION T e SHIM = = NONE
Ly )
NOTES: CONCRETE/_/1 1/2* MIN. LA & ;:’NG' v: G.LUBBECKE
OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM GMASONRY EMBED A : 0 ot S.SAFFELL
/ . . S
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED. OPTIONAL MASONRY/CONCRETE INSTALL 39 : ! tlog q D\*}‘ss DRAVIING No.
[ED1mem #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP, ~ CROSS SECTION OF HEAD JAMB OR SIDE JAMB D AlrEl,E ACH, FL 33004 D013701
[EDAT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT. FBPE CERT OFIAUYH. NO. 29578 7 o o




NOTE:

<
o

ael

|~3" TYP.

1 |

+

al

96 3/4" MAX. FRAME (OUTSWING
98" MAX. FRAME (INSWING)
L

I

pa——

6" — 6"
TYP. " [~ TYP.
3" TYR. —-—
3" TYP.

-

X

/

TUBE
OPTIONAL

DETAIL A8

(8) ANCHOR LOCATIONS AT MULL

1

—— 6"TYP.
6" TYP. [=—
3"TYH [—
3" TYP.
+ | i

DETAIL B8

(10) ANCHOR LOCATIONS
AT ASTRAGAL

] . 37T12'MAX. _ &
SHIM FOR SUPPORT AT OR NEAR —~—74" MAX. O.A. FRAME OA.FRAME™ |F
EACH ANCHOR IS REQUIRED — |<—3" TYP. (1) 3" TYP.——I —— — I._g-v TYP. o %
o i 4 1+ i @\S + + l G
150 3/8" MAX. O.A. FRAME > R c8 c8 I S
e~ l T E
Z5 | [ <
] |} 1 1 I I | D I O | L ‘ % Z 7 i & 3 T~ E\l
N E= = =
C5 G5 7 32+ A 4 4 .
' oeg
Ll - SY ¢ ¢ L 2o ¢ ‘
=< = >
— T e s F
- L I Qe
BS A Foxx X X 77367 r
¢t b ot ¢ =2 ¥ f
| l u é o = =E - L X o
=r 58 + | i o>
\ X O . & o 8
X == - D8 I D8 it -
- a3 o 1 f T f M T T f
va T 10 > T _?'
D8 D8 | | i 6-0 X 8-0 OUTSWING/INSWING o 5 3-0.X 80 OUTSWING/NSWING
e AL Rt T ANCHOR LOCATIONS (FROM EDGE OF FRAME)
f (FROM EDGE OF FRAME)
12-0 X 8-0 OUTSWING/INSWING . y 41
ANCHOR LOCATIONS 75 304" MAX FRAME 5
(FROM EDGE OF FRAME) — |<—3" TYP. 3" TYP.——I -— : £xd §
114 1/4" MAX FRAME .o N e o N ‘ XolBal 3222
0 > * —— — . s > B| X © Y —
1 = b S ol By
— J<—3" TYP. 3" TYP.——J - & sl Rl sy e
| L] I . 30 Z~ = IR E
b - =>- = (29 B - 0 Bl S
o~ S F
o N 2% oy
zZ - =0 53
=9 - - +0 Q02 7 i 9
2= T ¢ Sy Eo| E
32 2> ‘ . -z L
oz - r xS PANEL | CENTER —{ = o
Wy A8 A8 S /@ 22 z
=2 4 . N ¢ - X% T X @) I l 25 3
xS PANEL | CENTER f << »y 22 z
< /@ S5 A ! i °F SE <
X% 0 X 0 58 Sol ¢
== . 8 w = =
. [ - o . i Q= 3
I [ [ T > | $5as a g 2
© f T TTT W=7, lalte) o)
°’* 1 L 6-0 X 8-0 OUTSWINSINEVEBIR ’/,,1 8gl, ¢
T =t 11 Tt 11 j ANCHOR@ ATH //, = g | <
f 4 @22 2
9-0 X 8-0 OUTSWING/INSWING (FROME® o g fim ) £
ANCHOR LOCATIONS =k 3 o 2 z 2
(FROM EDGE OF FRAME = P A [ 12152015
2- #8 X 3" PFH =R J g |@=NonE
SCREW 1- BOTTOM ASTRAGAL % Q(\ Q‘,U Jowe.v: G.LUBBECKE
STRIKE PLATE 2, N
1- TOP ASTRAGAL Z . TR ([0 S.SAFFELL
STRIKE PLATE 1- BOTTOM SHOOT 39%_ A B ﬁlog V D\ﬁ338 DRAWING No.:
DETAIL C-8 DETAIL D-8 BOLT INSERT PLUG DETAIL E-8 DAWA BEACH, L 33004 D013701
INSWING OR OUTSWING OUTSWING ONLY INSWING ONLY FBPE CERT OHAUYH: NO. 2957835 o o




(3) #10 WOOD SCREWS

W/ MIN. 1-1/2" EMBEDMENT,
MIN. 3/4" EDGE DISTANCE INTO
WOOD OPENINGS

(2) 174" ITW TAPCONS

W/ MIN. 1-1/4" EMBEDMENT,
MIN. 1 1/2" EDGE DISTANCE,
INTO CONCRETE/MASONRY
OPENINGS

#10 FLATHEAD SDS,

/ (4) PER CLIP

1" x 4" MULLION

—

DETAIL A-9
TYPICAL ATTACHMENT AT
MULLION INTERSECTION W/C—CLIP
VERTICAL SECTION

(4) #10 WOOD SCREWS
W/ MIN. 1-1/2" EMBEDMENT,
MIN. 3/4" EDGE DISTANCE INTO
WOOD OPENINGS

(4) 1/4" ITW TAPCONS

W/ MIN. 1-1/4" EMBEDMENT,
MIN. 1 1/2" EDGE DISTANCE,

1" x 4" MULLION

— 1.38"

¥

100" |~
i o
I~ 2.00" ’T\ *
/ \
‘ 4.00" ‘
DETAIL B—9

17 X 47 MULLION ATTACHMENT AT
MULLION INTERSECTION W/C—CLIP

SIDE ELEVATION

-~ 300" — | INTO CONCRETE/MASONRY
L OPENINGS

EDGE

DISTANCE % EDGE
| DISTANCE
EMBED.
\ #10 FLATHEAD SDS,
/ (4) PER CLIP
1" x 4" MULLION il

DETAIL D—9

TYPICAL ATTACHMENT

WITH T—CLIP
VERTICAL SECTION

— 275" — INTO CONCRETE/MASONRY
OPENINGS !
EDGE EDGE 2.110"
DIST?NCE DISTANCE L
EMBED. |
? 1.00" | 1.00"
o] o
- 200" = *
‘ 4.00" ‘
1.25"
DETAIL E-S

17 X 47 MULLION ATTACHMENT

WITH T—CLIP
SIDE ELEVATION

(3) #10 WOOD SCREWS
W/ MIN. 1-1/2" EMBEDMENT,
MIN. 3/4" EDGE DISTANCE INTO
WOOD OPENINGS

(2) 1/4" ITW TAPCONS

W/ MIN. 1-1/4" EMBEDMENT,
MIN. 1 1/2" EDGE DISTANCE,
INTO CONCRETE/MASONRY
OPENINGS

#10 FLATHEAD SDS,
(4) PER CLIP

(4) #10 WOOD SCREWS

W/ MIN. 1-1/2" EMBEDMENT,
MIN. 3/4" EDGE DISTANCE INTO
WOOD OPENINGS

(4) 1/4" ITW TAPCONS

W/ MIN. 1-1/4" EMBEDMENT,
MIN. 1 1/2" EDGE DISTANCE,

0.125"
0.438
o _
f }
1.375"
! 3.625"
DETAIL C—9
C—-CLIP
— [~— 0.726"
‘ ‘ 0.476"
~— 0.125"
0.125"
{
f
5.50"
0.438"
‘R 3.00" —»‘ ‘
| |
o o] —
N
2.75" 3.625"
o o J

L]
slsa2a
o/ 3 3L
ol =2 RN ™
nmcn.
o o
t’OOO
8| G @
w| FUoT
2| X © ¥
o| I L L
- s =
AlN® U
Z|l o g S
~|\m_8
Bl a

Fax: (541) 850-2609

-0 X 8-0 FULL LITE J ELIFWEN

INSWING/OUTSWING IMPACT GLAZING
TUBE MULLION ANCHORING DETAILS

!
oHNBERCT i b

CE

STEEL WOOD EDGE 12

PART OR ASSEMBLY

-
£

& 12.15.2015

—_ A
|Se.e: NONE

[Bw. 8v: G.LUBBECKE

| ek ev: S.SAFFELL

<
N¥338 DRAWING No.:

D013701

NO.29578 i o o 9




		2020-04-08T17:50:43-0400
	Hermes F Norero
	I am approving this document




